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BACHELOR OF SCIENCE (B.Sc.)

Term-End Examination,

O June, 2010

LIFE SCIENCE

LSE-12 : PLANT DIVERSITY-I

Time : 3 hours	 Maximum Marks : 75

Note : Answer the questions as directed in Section A, B and C.

Draw neat and labelled diagrams wherever necessary.

SECTION-A

Note : All the questions in this section are

compulsory.

1.	 Fill in the blanks : 	 5

Stromatolites are laminated fossils formed
by the activity _ of 	

A dried herbarium specimen on the basis of
which new name is given to a plant is
known as 	

VAM stands for 	

Zosterophyllophytes belong to
period.

(e) Red tide is caused by 	
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2.	 Indicate which of the following statements are 	 5
true or false ?

Cyanobacteria are placed under the
kingdom protista.

Viruses are not considered to be true
organisms.

The Trimerophyta are a group of living
Pteridophytes.

Prochloron is a prokaryote with chlorophyll
a and b.

(e) The protonema of Bryophytes is haploid.

	

3.	 Match the items of Column-A with the most	 5
appropriate items in Column-B :

Column-A Column-B

(a) Phaeophyta (i) Fusarium

(b) Selaginella (ii) Hyaline leaf
cells

Chlamydospores Oedogonium

Sphagnum Heterospory

(e) Cap cells Chlorophyll a
and c
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SECTION-B

Answer any six questions. All questions carry equal

marks :

Give a brief account of Oparin - Haldane	 5
O	 hypothesis regarding the origin of life.

O

.	 Explain the three systems of classification. Which	 5
system according to you is the best and why ?

Comment on the heterotrichous habit of algae. 	 5
Give any three examples of such algae and briefly
describe each one of them.

Explain the structure and anatomy of the three	 5
types of lichens. Mention any two important uses
of lichens.

With the help of diagrams describe in brief the 	 5
life cycle of a plasmodial slime mould.

Draw a well labelled diagram of L.S. of mature	 5
sporophyte of Marchantia.

10.	 Write any five important differences between	 5
prokaryotes and eukaryotes.
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With the help of suitable examples explain	 5
apogamy and apospory in Pteridophytes.

With the help of suitable diagrams write the 	 5
differences between petrifaction, impression and
compression fossils.
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SECTION-C

Answer any three questions. All questions carry

equal marks :

Explain the origin and evolution of sex in algae. 10
Support your answer with suitable examples.

Name the fungus responsible for causing loose 10
smut of wheat. Illustrate the disease cycle. Write
the symptoms and control measures used for this
disease.

With the help of an example each discuss the 10
salient features of the five types of sexual
reproduction in fungi.

Explain the primitive characters of Psilotum which 10

indicate its close affinity with Rhynia. Also draw
well labelled diagrams of sporophytes of both.

17. Citing appropriate examples, describe the 10
evolution of sporophyte in Bryophytes.
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